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Quiz Date: 16th May 2020

Directions (1-5): Read the following information and answer the questions given
below.

A, B,C, D, ], Jand K are seven persons standing in a row (not necessarily in the same order)
facing north. Each of them was born on different days of the same week starting from
Monday.

The number of persons standing between C and K is same as the number of persons
standing between C and B. D who is older than only two persons is standing third from one
of the extreme ends. The number of persons who were born between D and I is one less
than the number of persons standing between them. B was born on Thursday. A and D are
immediate neighbors. The youngest and the oldest persons are the immediate neighbour
of each other. K who is the youngest is standing at extreme left end. C and | are immediate
neighbour of each other. The number of persons younger than C is the same as the number
of persons older than J. I is not standing to the left of C. The persons who were born on
Tuesday and Wednesday are not immediate neighbours.

Q1. How many persons standing to the right of | are older than him?
(a) One

(b) Two

(c) Three

(d) None

(e) None of these

Q2. Who among the following is the oldest person?
(@A

(b) B

(9cC

(dD

(e) None of these

Q3. Who is standing at the extreme right end?
(@)

(b) K

(c)B

(d)I

(e) None of these

Q4. Who is sitting fourth to the right of D?
(@A

(b) I

(c)]

(dcC

(e) None of these

Q5. What is the position of ]?
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(a) Immediate to the right of L.
(b) Third to the left of K

(c) Immediate to the left of C
(d) 5th to the right of B

(e) None of these

Directions (6-9): Read the given information carefully and answer the given
questions.

There are six people i.e. AB W XY and Z in a family. They are working in different
companies i.e. IBM, Wipro, Google, Infosys, SBI, and MTL. Each having different salaries i.e.
60k, 67k, 70k, 82k, 85k, and 90k.

A works in IBM. The one who work in Google earn more money than Z. W earn more than
only two people. W does not work in google and SBI. X works in MTL and earn more than B
and W.Y is not earn the highest. A earns highest among them. Y work in Infosys and earn
more than X.

Q6. Who among the following works in Wipro?
(a) The one who gets lowest salary

(b)B

(cagw

(d) Both (a) and (c)

(e) None of these

Q7. Who among the following gets 85k as salary?
(a) L

(by M

(Y

(d) Either (b) or (c)

(e) None of these

Q8. Who among the following gets lowest salary?
(@o

(b) K

(©)]

(dZ

(e) None of these

Q9. B works in which of the following company?
(a) IBM

(b) Wipro

(c) SBI

(d) Google

(e) None of these
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Q10. Statement-The United States is looking forward to strengthen ties with India, the
Trump Administration has said, ahead of the meeting between Prime Minister Narendra
Modi and President Donald Trump.

(DThe meeting between Prime Minister Narendra Modi and US President Donald Trump
would set the tone and the framework for the bilateral relationship going forward.
(INThe two leaders will have a chance to get to know each other and to find some common
ground on the way they look at the world and a common strategic view that would set the
framework on how the two governments pursue the relationship going forward.

(III) There will be no major breakthrough announcements from this meeting. No one is
expecting that the meeting would be productive for both the countries.

Which of the following can be assumed from the given statement?

(a)Only I'and II

(b)Only I and III

(c)Only II and III

(d)Only I

(e)None of these

Q11. Statement-Union Urban Development Minister Venkaiah Naidu said seeking loan
waiver has become a fashion”. But waiving off loans of farmers is not the final solution and
should be considered in extreme situations.

(DWe should create adequate infrastructure and facilities like godowns, cold storage,
refrigerator vans, for farmers.

(IDFarmers need to get good remunerative price for their produce and care should also be
taken of those in distress.

(ITNWe will have to ensure that affordable credit is available to these farmers.

Which of the following course of action should be followed to resolve the issue of farmers
who are seeking waiving off loans?

(a)Only ITand I

(b)Only I and III

(c)All of the above

(d)All except I

(e)None of these

Q12. Which of the following symbols should be placed in the blank spaces respectively (in
the same order from left to right) in order to complete the given expression in such a
manner that makes the expression P > Q as well as R < S definitely true?

P_R_T_Q_S

(@)=-=22

(b) >, 2, =,
(€)>< =
(d) > ==,
(e) > =,

)

Avo
I n v

>
<

1
IV

<
, >

Q13. Which of the following symbols should replace the sign (?) and (*) in the given
expression in order to make the expression Q>X definitely false and Z>Q is definitely true?
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Z(DY>QMM=X
(@) >,>

(b) 2, >

(<=

(d) > =

(e) None of these

Directions (14-15): In each of the questions below. Some statements are given followed by
conclusions/group of conclusions. You have to assume all the statements to be true even if
they seem to be at variance from the commonly known facts and then decide which of the
given conclusion given in the options logically follow from the information given in the
statements:

Q14. Statements: Only a few Green is Blue.
No Blue is Yellow.
Only a few Yellow is White.

(a)Some Yellow is Green

(b)All Green can be Yellow

(c)All White can be Blue

(d)Some Green is White

(e)All Blue can be Green

Q15. Statements: Only a few Banana is Mango.
Only a few Banana is Grapes.
Only Grapes is Kiwi.

(a) Some Banana can be Kiwi.

(b) Some Kiwi can be Mango

(c) All Mango is Grapes is a possibility

(d) All Grapes cab be Banana

(e) All Banana can be Grapes.
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Solutions
Solutions (1-5):
Sol.
| | | | | | |
K A D c J | B

(Sun) (Mon) (Fri) (Tue) (Sat) (Wed) (Thu)

S1. Ans.(b)
S2. Ans.(a)
S3. Ans.(c)
S4. Ans.(e)
S5. Ans.(e)

Solutions (6-10):
Sol.

Person | Company
IBM
Google

Wipro
MTL
Infosys
SBI

A(90K) > Y(85k) > X(82K) > W(70k) > B(67K) > Z(60k)

SIEIEI NS

S6.Ans(c)
S7.Ans(c)
S8.Ans(d)
S9.Ans(d)

S10. Ans.(a)

Sol. For [-True, because it can be assumed that meeting between PM Modi and Trump will
empower the relation between both nations as it is given that US is looking forward to
strengthen ties with India.

For II-True, because it can also be assumed from the given statement that the meeting of
the leaders will provide some common grounds to strengthen the ties between the two
countries.

For I1I-This statement is false because it states that no one is expecting some major steps
from this meeting but it is given that US is looking forward to strengthen the relation with
India.

S11. Ans.(c)
Sol. For I- This is appropriate course of action as proper facilities and infrastructure will
help the farmers.
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For II-This is also appropriate course of action because if farmers get appropriate price for
their products then the problem of waiving off loans can be resolved.

For III-1IT will be appropriate course of action because if the farmers have enough credit to
meet their needs, loan waiver problem may get solved.

S12. Ans.(d)
S13. Ans.(d)

S14. Ans.(e)
Sol.

Green X Blue )¢ (ellow fWhite

S15. Ans.(c)
Sol.
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